

00.00.2023



Your IKEA Closet Pricing & Purchase Guide

Your design was sent on a separate PDF. Here's information corresponding to that design – outlining what's needed for purchase and complete material listings.



01

How to Begin Your IKEA purchase

Begin your IKEA purchase by accessing your Home Planner account

here's how to do it 7

Click your Country to access your IKEA Home Planner account.













02

Item List

Here you'll see each and every IKEA item along with its price. There's a final total for a quick price check



Item list

. Persona	alized ca	binet	Art. #	Price	Quant.	Total price
0	-	SEKTION high cabinet frame, white 18x24x90 "	002.654.39	\$141.00	1	\$141.00
		AXSTAD door, matt white 18x30 "	004.260.55	\$83.00	1	\$83.00
		AXSTAD door, matt white 18x60 "	404.260.58	\$169.00	1	\$169.00
		UTRUSTA shelf, white 18x24 "	202.655.32	\$19.00	1	\$19.00
		UTRUSTA hinge w b-in damper for kitchen $110\ ^{\circ}$	805.248.82	\$14.00	2	\$28.00
. Persona	alized ca	binet	Art. #	Price	Quant.	Total price
z. Persona	alized ca	SEKTION high cabinet frame, white 24x24x90 "	Art. #	Price \$152.00	Quant.	Total price \$152.00
z. Persona	alized ca	SEKTION high cabinet frame, white				
2. Persona	alized ca	SEKTION high cabinet frame, white 24x24x90 " AXSTAD drawer front, matt white	702.654.45	\$152.00	1	\$152.00
2. Persona		SEKTION high cabinet frame, white 24x24x90 " AXSTAD drawer front, matt white 24x10 " MAXIMERA drawer, medium, white	702.654.45 504.260.67	\$152.00 \$51.00	4	\$152.00 \$204.00

3. Persona	lized ca	abinet	Art. #	Price	Quant.	Total price
		SEKTION high cabinet frame, white $24 \times 24 \times 90$ "	702.654.45	\$152.00	1	\$152.00
		AXSTAD drawer front, matt white 24×10 "	504.260.67	\$51.00	4	\$204.00
T	to in	MAXIMERA drawer, medium, white 24x24 "	802.656.66	\$56.00	4	\$224.00
9		UTRUSTA shelf, white 24x24 "	002.655.33	\$23.00	1	\$23.00

4. Personal	lized ca	binet	Art. #	Price	Quant.	Total price
	1	SEKTION high cabinet frame, white $30x24x90$ "	404.874.19	\$160.00	1	\$160.00
		AXSTAD drawer front, matt white 30x10 "	904.260.70	\$55.00	4	\$220.00
		MAXIMERA drawer, medium, white 30x24 "	302.656.64	\$70.00	4	\$280.00
	and the same	UTRUSTA shelf, white 30x24 "	002.655.28	\$25.00	3	\$75.00

Susp	ension rail	Art. #	Price	Quant.	Total price
	SEKTION suspension rail, galvanized 84 "	602.615.27	\$16.00	2	\$32.00
Legs	& toe kicks	Art. #	Price	Quant.	Total price
TITI	SEKTION leg 4 1/2 "	102.655.18	\$11.00	4	\$44.00

Total price

The total price includes

Furniture and fittings \$2,457.00

\$2,457.00

Important IKEA cannot accept any liability for the accuracy of measurements or furniture layout. Prices in this program are for products you collect from IKEA, take home and assemble yourself. All requested delivery, assembly and installation services are charged separately and not included in the price. Although we do try to ensure that the information in this program is correct, we apologise for any product alterations that may occur.





03

Extra Item List

Our Signature Extra Items List outlines all additional items needed for installing and customizing your IKEA cabinets. They're not able to be included in IKEA's Home Planner.





Extra items to complete your design

Product Number	Description	Qty	Price	Total
805.248.82	UTRUSTA Hinge w b-in damper for kitchen, 110°	1	\$14,00	\$14,00
	(Use for Item #1)			
604.260.81	AXSTAD Door, matt white, 24x50"	2	\$166,00	\$332,00
	(Use for Item #2 #3)		4.00/00	+++++++++++++++++++++++++++++++++++++
805.248.82	UTRUSTA Hinge w b-in damper for kitchen, 110°	3	\$14,00	\$42,00
	(Use for Item #2 #3)			
004 000 51	AXSTAD Door, matt white, 15x50"		\$129,00	\$258,00
904.260.51	(Use for Item #4)	2		
805.248.82	UTRUSTA Hinge w b-in damper for kitchen, 110°	3	\$14,00	\$42,00
000.240.02	(Use for Item #4)	3	Ψ1-4,00	Ψ+2,00
	T			
003.384.07	BAGGANÄS Handle, brass color, 5 5/8"	9	\$8,00	\$72,00
904.177.54	FÖRBÄTTRA Toekick, matt white, 84x4 1/2"	3	\$30,00	\$90,00
903.233.93	FIXA Drill template, orange	1	\$2,49	\$2,49
				\$852,49

These panels will be used at the exposed sides of kitchen cabinets

Product Number	Description	Qty	Price	Total
5041//51	FÖRBÄTTRA Cover panel, matt white, 25x90" (Use for Item #1 #3 #4)	4	\$128,00	\$512,00
				\$512,00

Molding & Trim

Product Number	Description	Qty	Price	Total
	FÖRBÄTTRA Cover panel, matt white, 15x90" (This item will need to be cut to size and used as trim to close the gap between upper cabinets and ceiling)	1	\$83,00	\$83,00
				\$83,00

Extras

Product Number	Description	Qty	Price	Total
102.655.18	SEKTION leg 4 1/2"	1	\$11,00	\$11,00
805.248.82	UTRUSTA Hinge w b-in damper for kitchen, 110 °	1	\$14,00	\$14,00
602.615.27	SEKTION suspension rail galvanized 84"	1	\$16,00	\$16,00
003.384.07	BAGGANÄS Handle, brass color, 5 5/8"	1	\$8,00	\$8,00
				\$49,00

Extra Items: \$1.496,49
IKEA Total Price: \$2.457,00

IKEA Total Price + Extra Items: \$3.953,49



Thanks for designing with us:)

Questions? Contact us: florence@inspiredkitchendesign.com





